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» fork()
1. SIGCHLD
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Copy-on-write
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Mmu-less Linux
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» vfiork()
1. CLONE_VM

2. CLONE_VFORK
3. SIGCHLD




pthread_create-> clone

+ done(

1. CLONE_VM

2. CLONE FS < >

3. CLONE_FILES

4. CLONE_ SIGHAND < >

5. CLONE_THREAD
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SUBREAPER 5 # 1li

/* Become reaper of our children */
if (prctl(PR_SET_CHILD_SUBREAPER, 1) < 0) {
log_warning("Failed to make us a subreaper: %m");
if (errno == EINVAL)
log_info("Perhaps the kernel version is too old (<
3-42)");
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init vs. SUBREAPER
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wait queue

static ssize_ t globalfifo read(struct file *filp, char __ user *buf,
size_ t count, loff_t *ppos)
{

int ret;

struct globalfifo dev *dewv = container of(filp-=private data,
struct globalfifo dewv, miscdewv) ;

DECLARE WAITQUEUE(wait, current);

mutex lock(&dev-=mutex) ;
add wait queue(&dev-=>r wait, &wait);

while (dewv->current len == @) {
if (filp->f_ flags & O NONBLOCK) {
e FET = -EAGALN;

r

goto out;
}
set current state(TASK INTERRUPTIBLE) ;
TMOTEX UM LOC K I &0 v = ST texe)—

schedule ()
if (signal pending(current) {
ret = -ERESTARTSYS;

goto out2;
T

mutex lock(&dev-=mutex) ;

}

if (count > dewv->current_ len)
count = dev-=current_len;

if (copy_ to user(buf, dev-=mem, count)) {

ret = -EFAULT;
goto out;
} else {
memcpy (dev-=mem, dewv-=>mem + count, dev-=current_ len - count):;
dev-=current len -= count:

printk(KERN_TNFO "read %d bytes(s),current_ len:%sdwn", count,



baohua@baohua-VirtualBox:/$ pstree
1n1t——ModemManager—2*[ {ModemManager} ]
NetworkManager——dhclient
—Ednsmasq
3*[{NetworkManager}]

VGAuthService

accounts-daemon—2*[{accounts-daemon}]

acpid

at-spi-bus-laun——dbus-daemon
3*[{at-spi-bus-laun}]

at-spi2-registr—{at-spi2-registr}

atd

atop

avahl-daemon—avahi-daemon

bluetoothd

colord—2*[{colord}]

cron

cups-browsed
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https://github.com/21cnbao/process-courses
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